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II Mid examination

B.Tech Il Year CSE (I VSemester)
Subject with code: SPT -
SET-B £
Time: 2 hrs. M.M.:20

& W

Instruction for students:

1: Give the mathematical form of Normal distribution, and its mgf, mean, variance and standard
deviation. '

OR
Write the short note of birth death process and its mathematical form..

2: A T.Vrepairs man finds that the time spent on his job has an exponential distribution with
30 minutes. If he repairs sets in the orderin which they come in,and if the arrival of setsis
approximate poissonian ‘with an average rate of 10 per 8 hrs one day, what is the repairman’s
expected idle time each day! How many jobs are ahead of the average set just brought in.

OR

If for a period of 2hrs in a day customers arrive in a barber’s shop that has space to accommodate

only 4 customers.Arrival rate of customers is 3 per hour and service time is 36 min per
customer.Find for the above period.

(a) The probability that there is no customer in the shop.
(b) Average no of customers in the shop
(c) Average waiting time in the system.
3:Calculate the coefficient of correlation from the following data: and obtain the regression line.
X: 1 3 5 7 8 10
Y: 8 12 15 17 18 20
OR
Write the short note of pure death process and its mathematical form.

4- In a shop there are two computers for carring out the job work. The average time per job on each
computer is 20 minutes per job and average arrival rate is 2 jobs per hrs .Assume the job to be
distributed exponentially .if the maximum number jobs accepted on a day be 6, find
(a) The expected number of jobs waiting for the computer,
(b) The total time lost per day.
OR
Explain Queuing model (M/G/1) : (Infinite/FIFO)
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II Mid examination

B.Tech Il Year CSE (I VSemester)
Subject with code: SPT

‘ SET-A
Time: 2 hrs. M.M.:20
Instruction for students: £

Attempt any four question.

1-Write the short note of pure birth process ang give its mathmatical form.
OR
Calculate the coefficient of correlation and obtain the line of regression for the following data.
X 1 2 3 4 5 6 7 8 9
Y: 9 8 10 12 11 13 14 16 iS

2- Fit the second degree parabolic curve to the following data;

X: 0 1 2 3 4
R A 1.8 1.3 2.5 6.3
OR

Ina normal distribution 31% item are under 45 and 8% are over 64,Findthe mean and the
standard deviation of the distribution.

3 - Abank has two tellers working on saving account . the first teller handles withdraws only. The
second tellers handle deposits only. It has been found that the service time distribution for both
deposits and withdraws is exponential with mean service time 3 minutes per customer. Depositors
arrive in poisson fashion with mean rate of 16 per hour.withdrawers also arrive in poisson fashion with
mean arrival rate of 14 per hour. What would be the effect on the average waiting time for depositors
and withdrawers if each teller could handle both withdraws and deposits! What could be the effect if
this could be accomplished by increasing the mean service time to 3.5 minutes.

OR
Find the angle between the two line of regression . interpret the case when r= +1, -1, 0.

4- : Write the short note of Discrete parameter Markov chain
OR
Write the short note of model MMS/N and MM1/N

—_
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